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To exclude, two said, ‘one on her back, etc.’

Overview

The 770 writes! 227 232 "3 27v *1w %D 9¥; we expound the word 727 to mean that
the testimony must be complete, but not a 7127 >¥r1. The 1127 (of ¥"9) apply this to a
case where two 07V testified that a girl has one (pubic) hair in one area, and another
two 0’7V testify that she has one hair in another area, so even though between the
two sets of 2°7v we know that she has two hairs, nevertheless she is not considered
a 12173, but rather she is still a 71vp, since each set of o7 testified that she has (only)
one hair which does not make her a 79173. They are each testifying on a 127 >xr1. Our
moon distinguishes between our case and similar cases, where their testimony is
accepted.

nooIN clarifies:
= IV ANIND NINID 1°9919% 1AW N1 DI INT ONNT D15 DY 2392 NNHVYNRI MIYY T XD

And our case (regarding the hairs) is not similar to the case where the p1mn
consumed the fruits of the first year in the presence of two 07V, etc. (and the
second year in the presence of two other 0>7v, and the third year in the presence of a
third set of 2°7¥, where it is a valid 7P, and we do not say that each set of 27V is
testifying on a 727 °Xn1 (since a 7pTn requires three years), for there (by 7p1) the 2”7V

saw all that was possible to be seen in that year, however here each set of 27y missed
seeing the other hair? -

NN offers an alternate distinction:
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And the n''>9 explained the difference because there (by 7i717) their testimony is
effective regarding the produce that the p°112 consumed in the first (or second)

year -
= 3p1y 919 N1 XY ON BYVWY 21Ny

That the p>1m will be liable to pay (to the original owner) if the 11772 will not find

"'0,0 (Dovo1w) 01T,
2 They seemingly should have seen two hairs (if this was indeed so); the fact they each set is testifying that they only
saw one hair, is as if each set of 07V is testifying that she still is a 7110p, for she only has one hair. However when the
n> testifies that the P11 ate one year, it does not diminish at all the possibility that he also ate a second and third year.
3 The testimony of the first (and second) year is a valid testimony because it can make the p>1nn liable. Once it is a
valid testimony, it can be used in favor of the p°117 if he has more witnesses for the remainder of the three years.

1

TosfosInEnglish.com



WIYR? 1"7'0IN 2,y P2 .7"02

additional witnesses that he made a nipm for three years —

moo1n prefers the first reason:
- (3,50 97 pv3y) JAPNN PID2 PNT 9POY PNYY 135297 NINII PYUNY DYVI

And the "' assumes the first reason as decisive, for the mw» taught in %2pns =o -
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A woman who said to her agent, ‘receive my w3 on my behalf’, two sets of

witnesses are required, for it to be a valid 03 -
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Two witnesses who will testify that she told the 5w in our presence to receive
the v3 on her behalf, and another two witnesses that will testify that the 5w

received the v) in our presence and tore up the vx. This concludes the citation of that

7awn, our M1OIN continues with his proof -
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It is evident that in such a case, the testimony of each n3 of 2°7¥ is not considered
a 127 °xn, even though that each n> requires the other -

MBI anticipates a difficulty with his statement that Y98 19K °3°x:
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For even according to the one who maintains that the w>»w (third party) is
believed when the 3 is in his possession, and in that case the 79°R >7¥ do not
require the ;793p »7v,” if the m>w/w %W had the v —

Moo responds:

4 This is a case of a 722p% m>w, in which case as soon as the 9 receives the v3 from the husband, the woman is
divorced, and it is not necessary for the M2 to bring the v to the woman.
3 Theoretically they can be the same two witnesses, but it is unusual that the witnesses who are here now by the woman
should also be there by the husband when he gives the v3 to the m>bw.
® The m1wn requires two sets of 0°7v, meaning that if there is only one set (whether they saw her appoint him for a m°bw
2279, or whether they saw him receive the v3), the va is invalid, so it would seem that each set of o7V is testifying to
a 127 xn!
" The X3 there (X,70) cites a dispute in a case where a third party is holding the v3. The husband claims that he gave
the v to the w*5w as a deposit to hold it for him (17779), and the w2 claims that I am the 722p% m°%w and the husband
gave it to me to divorce his wife. X117 27 maintains the husband is believed (and she is not divorced), while X707 29
maintains that the w5 is believed and she is divorced.
8 In this case there are no 773p *7v (that he received the va for 1w13), for in that case there would be no dispute, she
would certainly be nwan, and nevertheless she is divorced based only on the 772X >7¥ that indeed he was appointed
as a 723p% mHw.
° The X7»3 here teaches us that as long as one set of 27y does not require the other set, it is not considered a 727 ¥7.
Therefore in the case of v, since the 77X 7Y seemingly do not require the 723p *7v it is not considered a 727 >¥n.
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Nevertheless since it is necessary that the v3 is seen in the possession of the 5w,
it is considered a 937 21, so why is it effective there —

mson concludes his proof supporting the first reason (not'! like the 7'">):
- YW NIING [MNID] ADIPY N1 D3 AN N YW DIVN THAD Y KON

Rather perforce it is because each set of 07V sees whatever it can possibly see at
that point —

n90IN concludes:
12932495 [1°0)9] 1PN2NN NOINN)

And the mwn in P will follow the 3329, who argue with ¥".

Summary
It is not a 727 °x17 if the witnesses testify all that is possible for them to know at that

moment.

Thinking it over
1. Should we think of the 7wa7 of 927 °¥1 X1 927 as a 230277 NI, or is it a reasonable

law?'® Can we ascribe the np12nn between Mo and the 7" to these two views.

2. Does a 7192p% m°9w attain this status when he receives the va from the husband, or
does he receive this status as soon as the wife appoints him. Can we resolve this
query so the 77 would be understood?

10 See footnote # 7 that the w5 is only believed if 172 1. Therefore the 77X >7v cannot accomplish anything on
their own without either the 722p *7v or without the 3 being found w9w 7°3, so it is still a 727 *¥n.
1 According to the 5" that by 7pm, the m7¥ has some validity (regarding paying for N9 n9aR), that does not apply
here, for what can the 77°nX >7¥ or the 793p *7v accomplish on their own, without the other n>.
12 According to ¥"1 just like by 7pm three groups of o7y are invalid, similarly by 10 it would not be valid by two
o7y °n3. However according to the 7", the 711wn in 1w A disagrees both with the 71127 and ¥".
13 See mwn nom.

3

TosfosInEnglish.com



